Ousqy w3 opezinfy 0¢ 000 98265 Nnidl Lcoc 9-€2/L'L0L " LYS
ouaqy w3 opezinfy ol 000 6£€6E’L Nnidl Lc0c 9-€¢/L'L0L " LYS
Oouaqy w3 opezinfy 0c¢ 000 9¢'/¥S nildl 0c0¢ 9-€¢/L'L0L " LYS
Oou8qy w3 opezinfy 0] 000 6.8€9°L Nnildl 0c0¢ 9-€¢/L'L0L " LYS
Oou8qy w3 opezinfy 0c¢ 000 v¥'182 nildl 610¢ 9-€¢/L'L0L " LYS
oueqy w3 opezinfy oL 000 8€198 nidl 610¢ 9-€2/L'L0L " LYS
Oueqy w3 opezinfy 0¢ 000 ¥6°L0€ nidl 810¢ 9-€2/L'L0L " LYS
Ousqy w3 opezinfy 0¢ 000 1§Gle Nnidl /£10¢ 9-€2/L'L0L"LYS
ouaqy w3 opezinfy 0¢ 000 095z nidl 910¢ 9-€¢/L'L0L " LYS
Oou8qy w3 opezinfy oL 000 2L'vi6'L nildl €10¢ 9-€¢/L'L0L " LYS
Oouaqy w3 opezinfy (0] 000 12'021'e Nnildl [ANr4 9-€¢/L'L0L " LYS
Oou8qy w3 opezinfy 0] 000 6v°05¢'¢ Nnildl LLoc 9-€¢/L'L0L " LYS
oueqy w3 opezinly oL 269291 65688 nidl 0L0¢ 9-€2/L'L0L"LYS
oedisod oedenjis oedeoynoN sobueouy Jojep ojiqaq ap odi} o191949Xx3 epIAId oN
z8‘0z.L 8l $Y Oo}Jage wa SeplAIp 9p |ejo} JoJeA
G/'26/°) sobieougy
9.'692°GlL sepezinfly sepiAlqQ
1€869°L sepezinly ogN seplAlQ

s0}1q2Q Sop ogSepijosuoy

€-6.81°920°G00 - NLdl

sepIAlg

ap ojuawebed @ e}jnsuo)

¥202/80/2| eled opljeA ojesix3

oididiunpy op |eas
elLIOpe.IN20.Id

ojnhed oes
op apepIo




opaqy w3 opezinly oeN 0l €8'G9l €859 L NnLdl €20¢

opeqy w3 opezinly ol 000 96'1L88°L Nnidl (4414 9-€¢/1°10L"LYS

oididiunpy op |eas

WO09INq
000 —"TNoy,

€-6.81°920°G00 - NLdl

eliopeindold g i
sepinlg omed ozs WM
ap ojuawebed 9 e}nsuo’ op epEpIS ,

¥202/80/z | eled opljeA ojenx3




